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Losungen / Statistik 1/05

Rermove["d obal ™ %" ]

1.

http://rowicus.ch/Wir/ProblemsSol utBachel or/LM 2Sta05L 1. pdf

2.

A, B, C unabhéngig! / A, B C indépendants

pA =0.05; pB=0.05; pC=0.10;
pAandB = pApB; pAandC=pApC; pBandC= pBpC, pAandBandC = pApBpC,
pAor Bor C= pA + pB + pC - pAandB - pAandC - pBandC + pAandBandC

0.18775

pOK =1 - pAor BorC

0. 81225

3.

Einmal wirfeln / Jouer une fois avec un dé
p5or6=1/6+1/6;

Dreimal wiirfeln / Jouer trois fois avec un dé
tot =673
216

OKlorOK20rOK3 = (1 +1) *5*5+5% (L +1) *5+5%5% (1 +1)

150

pExact ONE5or 6 = OK1or OK2or OK3 / t ot

25
36

N[pExact ONE5o0r 6]

0. 694444
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4,
defect =10 » 90/100 // N
9.
tot =90; defect =10 » 90/ 100;
pDefect =0.1; pOK=1 - pDef ect
0.9
K =tot -defect
81
pOKL = OK/t ot
9
10
pOK2 = (OK-1) / (tot -1)
80
89
pPOK3 = (OK-2) / (tot -2); pOK4 = ((K-3) / (tot -3); pOK5 = (K-4) / (tot -4);
POK = pOK1L pOK2 pOK3 pOK4 pOKS
64701
110983
pCK// N
0. 582981
5.

pOK=11/12 % 10/11
.

6

pNot OK = 1 - pOK

1

6

pOKlandOK2andOK3 = pOK * pOK * pOK

125
216

N[pOKlandOK2andOK3]

0. 578704
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b
pOKlandNot OK2andOK3 = pOK * pNot OK % pCK
25
216
N[pOKlandNot OK2andOK3]
0. 115741
c

pOK 1andOK 2andEvOK 3=pOK 1andOK 2andNotOK3 OR pOK 1andOK 2andOK3

pOKlandOK2andEvOK3 = pOK * pOK % pNot OK + pOK » pOK * pOK

25
36

N[%

0. 694444



